EARAROBREBRT —5 XN—ZXBISH—F 2021E108128 ) s@EllliE2H

M EE C1INA SR ‘(fﬁ} £ ‘[%EH?’;F&] - | & 15000 B
[xE<%] 1% :1,200,000 3 . 23 :480,000 .~ 33&:300,000 43&:180,000 9 . 5 & :120,000 /3
B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
- P RESR :35. -2-2- . - i (111
1 10l EXS17 €Y 6 £am 1(3_5)2 2-2-2-1 | 39.6 4 (4_910) e
RAREFY BTy bhIFTAFUR =T
I A ~ o4 | HFEY 1:36.0 4-5-3-3 | 40.4| — 1 509 | mRE— (&)
T 9| TIWRTAYR %.0 @ G | (@) JPNEH
RiNA40 B:=57)L70OR =te]
5 t 6 | LIS 1:36.2 5-4-5-4 | 40.2| - 2 478 | LWIE#H (11IE)
38l FO/ET7— g 56.0 %) -6) T
R:YYRUZURIR B:FT7/N\VITY [SInEe]
p 4 6 | JIIBIEXER 1:36.7 8-8-10-9 [39.8| — 7 486 | FLLUEHR (EFD)
4 1)1 07N 54.0 @172 7 2o
RiTJUF—Y B:N—TIT LT« B77—L
ST 4 3 | ENES 1:37.0 7-6-6-6 | 40.7 | — 8 490 |TTEBE (1)
sl g | 7T —Y 5.0 1172 w3 | PEEIE
RFPAIWNTTFHF— BAXASTT4—9 ARETa—T7—LAh
ST 4 5 | ERHEE 1:37.1 10-10-9-9 | 40.0| - " 495 | LIEFSE (111E)
671247//7@ 56.0 o) 0 e
R:YYRUJURIR 8:xwF—OATI SH =EB
5 3 | HEES 1:37.4 1-1-1-2 | 42.1| - 3 45 | REEE (1)
7057 8—% 250.0 ) o | BB
R:/ITURN B:RFSFSR "HBT7—L
- y =] E=E) : -9-8- - iR (1)
glgliz| ¥atyh it 4 = 1(738 9-9-8-8 | 40.8 6 :1:93) ;; &
R:o07% B:FPITRRAFIIV BEERIS
» s s P e :37. -11-11- . - FHE (1018
9 3 E—E—vyvibh v 5 e 1 (317) 7 12-11-11-11| 40.0 12 (4_83 A
RiN40 B:AA—kb=7T FUIY NG
== s 4 | fHEARFIE 1:38.0 3-3-4-5 | 42.4| — 5 524 | BiEE— (IiR)
10 72|n|FL2LY>> 54.0 (172 42 | @) b==2F—TW
RiPAIVNTTFH— BF:TUvY AN
< EtalE : -7-7- - FHEE (Mis
M5l gl 7—WUTLAY 36 =4 1.(318).2 6-7-7-7 | 41.9 10 (5_33(; éﬁﬁz (H618)
R:xAIZT7—R B:EY/FUudz TPk
= # 6 | HEEE 1:38.3 14-14-11-11| 40.6 | — 9 488 | WWEHE (111)
12 4 (N A *52.051 (1/2) (9 |HEE )
R RIAVL—Y B:IUNIL2 S—L— - Vv XY - TF—LERE
= ~ LLIAES S :39. -13-13- . - HBER (1)
3 5 ESRIOA—Y 5 4 o 1(3(36 13-13-13-13| 41.2 14 (4;7) S
Rir—7r75v1 B:e3SRI7F+0OL T Bs
2= ~ 43 | EBREE 1:39.9 11-11-14-14| 01.8 | — 13 | 448 |BEF— (&)
14 5 | XAZUAY 56.0 a1/2 10) | XRB—
R:wkwII—F)IVYI #B:NZS3HOV BIEZ 7—LA
@ 11— —BRIEfI
13—7F— 7,10,11,9,14,8,6,1,13,12,5,3,2,4
20— — 7,10,11,14,9,6,8,1,13,12,(3,5) ,2,4
IT=5r= 7,10,9,11,14,6,8,13,12,1, (3,4) ,2,5
40—F— 10,7,9,14,11,6,8,13, (1,12), 3,4) ,2,5
0 ILRE
BB 10 810 JA R 9-10 340 & 6-6 910M 3ER 9-10-14 1,330
B B 10 210M4 10-14 650/ (=] 6-6 1,040 3Es 10-9-14 9,340
9 120/ 9-14 240 B E 9-10 820M
14 160 =51 10-9 2,160

ABIC OV TRUTEREERRODDZE. THRIIZEL.




